MODEL TEST PAPER
CLASS - X
SCIENCE AND TECHNOLOGY
Term-l

Time : 3 hrs M.M. :50

Instructions :-

1. 1920 T & T Afa, qen sgfaseda €1
2. 2128 TFFUF2 SR F T
3. 29V THFFUA3 R F T
4. TEHEM N5 IFHEI
5. F® Ul H e 99 (Internal Choice) <& T
6. FAMEYS forg 9A1G 9 3= THifha off |
Section-I|

. Butanone is a four-carbon compound with the
functional group.

(@) Carboxylic acid (b) aldehyde

(c) Ketone (d) Alcohol

A =-h1a AT § SR TehraicHs T8

(a) HEifRaT® 3T (b) TUfcerEe

(c) =i (d) TewhrEd

. Which of the following is not a part of the female
reproductive system in human beings?

(@) Ovary (b) Uterus
(c) Vas deferens (d) Fallopian tube

71§ § =9 qHa § AT ST OF 1 9 el R 2

(a) siemM (b) TIvfeR
(c) haEeR (d) feemnfet

. The gap between two neurons is called a
(a) dendrite (b) synapse
(c) axon (d) impulse
1 ARt IR o TeA & WIell LI T Fed © -
(@) g (b) farw
(c) A (d) e

. Among Five 'R's the meaning of first 'R' is.
(@) Refuse (b) Reuse
(c) Repurpose (d) Recycle
e YRR % H H U8t R 1 1 ©
(@) TR (b) gH: ITAM
(c) TI: gASH (d) I =R

. Element X forms a chloride with the formula X XCl,,

Which is a solid with a high melting point X would
most likely be in the same group of the periodic table
as.

(@ Na (b) Mg
() Al (d)y Si

T X XCl, 7 a1l T FNEs a4 ¢ St foh T 39 ©
qe e o 21fyes B 1 eted |Roit § 98 I gyad:
fFg wqe & ofafa gmm?
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(@) Na (b) Mg
(c) Al (d) Si
. The Melting point of pure Ethanoic acid is.
(@) 290K (b) 240K
(c) 310K (d) 370K
IS UHTEH 3TF 1 TTeish Bidl ¢ |
(@) 290K (b) 240K
(c) 310K (d) 370K

. Where should an object be placed in front of a convex
lens to get a real image of the size of the object?

(@) Atthe principal focus of lens
(b) At the twice of focal length
(c) At infinity
(d)

d) Between the optical centre of the lens and its

principal focus
forelt fole =1 aTafaeh Qe THM WISl 1 Yidfeid 9T i &
fe foia 1 39t of o Am el W2
(@) @ % TEA TR W
(b) PR T W ITH T W
(c) 3Md W
(d) 9 % YRIR shg qq1 G HIHH & sid
. The human eye forms the image of an object at its.
(@) Cornea (b) Iris
(c) Pupil (d) Retina

10.

11.

e 7 99 9 W foreht aq 1 wfafefa o €, 98 ©-
(a) shrfam (o) uftariem
(c) gaeit (d) zfeTea

Which of the following statements is not a correct
statement about the trends when going from left to right
across the perios of periodic table.

a) The elements became less metallic in nature

a) qdl & ofcasd Yhfa wedt 71

b) The number of valence electrons increases

) The atoms lose their electrons more easily
C) TXHTY ST & ToIae ol TN X € |
)

The oxides become more acidic
d) T SRS At Tl 81 W |

Focus is virtual in the case of

(
(
(
(b) THSTRAl SRl i T §EF S ¥ |
(
(
(
(

(@) concave mirror (b) convex mirror

(c) plane mirror (d) None of the above
IR U0 % He H S g 7 |

(@) Tdd TUo (b) ST T

(c) THde U (d) = Tl

Which phenomenon is responsible for increasing the
apparent length of day by 4 minutes.

(@) Refraction of light (b) Scattering of light

(c) Dispersion of light  (d) Atmospheric refraction
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12.

13.

14.

%A b1 f9gid <7 1 e 4 fi= dem &g SRR © -
(@) T I 7Y (b) TRTS T YehivA
(C) R I YehiviA (d) agHEc STqedH
Which of the following constitute a food chain?
(@) Grass, wheat and mango

(b) Grass, goat and human

(c) Goat, cow and elephant

(d) Grass, fish and goat

11 § 9 1 SRR g 1 o o 8-

(@) =M, g 3R (b) I, SR T T
(c) oK, T e greft (d) =g, HSalt AUl SR

Which person of India is known as 'Water Man'? This
person from Rajasthan had been awarded with
'Stolkholm' award for safe conservation of water
Resources.

(@) Dr. Narinder Singh  (b) Amrita Bishnoi

(c) Dr. Rajender Singh (d) A.K.Banarjee

forg =afaa =01 YRA & AR A S TH Y ST ST S | TSR
% 30 Al 3 St HHTeAT bl gIfEa T 8q 2015 H wiekEm
TERR ot S|

(a) =1 7s g (b) =1 T fo'

(c) ergan forere (d) W & esf

The distance between the pole and centre of curvature
of a spherical mirroris called ...............

15.

16.

17.

(@) radius of curvature  (b) focal length

(c) object distance (d) image height

T TMferd Y0 & §d I Tohdl h ok o Bl G oo,
FHEAH € |

(@) Ishar o= (b) RIRE T

(c) fom =i gh (d) wffse %1 o

The way by which chemicals enter our food chain and
accumulate progressively at each trophic level. This
phenonmenon is known as.

(a) Pasturization (b) Eveporation

(c) Concentration (d) Biomagnification

T " foEh 51 TERE R SRR g § gfaw g,
T U TR T ST WUfed B0 9§, .o e T |

(a) TR (b) aTodTRTT
(c) wigum (d) & smaEA
Electronic configuration of Al+3is

(@ 2,8,3 b) 2,8,8

(¢ 2,8 d) 2,8,8,3
Al+3 &1 geteifen faama 7 -

(@ 2,83 (b) 2,8,8

(¢ 2,8 d) 2,8,8,3

Refractive index of a medium does not depend on.
(a) Nature of the medium

(b) Wavelength of the light used

(c) Temperature

(d) Angle of incidence
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18.

19.

Mendelev's periodic table's horizontal rows were
called............

(a) Periods (b) groups

(c) series (d) rows

Heda i STad ARl i At 9@ ... FHEA S |
(@) e (b) ¥

(c) it (d) g

The crystalline lens of people at old age becomes
milky and cloudy; this condition is known as ..............

(@) Hypermetropia (b) Myopia
(c) Cataract (d) Presbyopia

20.

21.

22.

FgTaEn § Al 1 e TF giean 9 ue € S ¥,
AT ST ..o FHEA ¢ |

(@) e g I (b) frepe 3fee <

(c) feem foig (d) SRR gfeea

The image represents a carbon compound.
0
C

/ N\

H,C CH,

(a) alcohol (b) aldehyde

(c) carboxylic acid (d) ketone
T&IA o ek e Aifires gwiar §

0
[

C
/ N\
H,C C
39 Jifitek | FiF W AT g Sufeed §7?
(a) Tehre (b) Tlcesze

(c) hraIlfReTh 317 (d) &t
Section - B

H,

How does chemical co ordination take place in
animals?

Siqett ® Tt wEaa S fremfed g 82

Why does Menstruation occur?

FJEE F BT &2
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23.

24.

25.

26.

27.

28.

Explain why the planets do not twinkle?

e it o 78 = 727 fenfenmd?

Find the power of a concave lens of focal length 2m.
2 m HIhd g a1l TRl sTedal ofF St &8l 1 hifs |
Name the following compounds

T=7 <HifiTeRl =1 AR HifST

H
(@) CH,— CH,—Br (b) H—$=o

Why do you think the noble gases are placed in a
seperate group?

3Tk STTIR Ih Tl & 3T 99g § = 1@ Tr?
There are various agents which help in transfer of
pollen grains from anther of one flower to stigma of
another flower. How do insects help in this?

TY 9gd 9 %RE § Sl Th I o GoheR § T S8 I8 <
Ffiehtl T TAHARA FLd © | 39 Uishal § whic hY AR hid
g2

IUse Mendeleev's periodic table to perdict the
formulae for the oxides of the following elements.

UScl® i 3TEd IR &1 39 w2 Fefafad aen &

STERATES o g Tl A IS |
@ K by C
(c) Al (d)y Si

29.

30.

31.

Section-C
Name

(@) Two elements that have two electrons in their
outer most shells

(b) Two elements with filled outermost shells

(c) Two elements that have single electron in their
outermost shells

& A IqET

(@) < ac forasd el Fw H < goraeE g
(b) < et Foremn et e ol &

(c) = T Sk =Tl Siel | T Solagid &

A students sits on the last bench of the class and is
not able to see the black board? What could be the
defect, the child is suffering from? How can it be
corrected?

T BT Hel § 0D & T 93d1 § 3R 9% Mg o=d: T
3@ Ir? 98 A ¥ ik A ufad 1 ehdr € qen 7w I
FY IY=IRA &1 Fehdl §?

Draw a labelled diagram of the longitudinal section of
a flower.

o9 &t T e A1 AHifcha T SR |
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Section-D
Answer any two out of three quesitons.
171 3 g9l ¥ § fordl <1 o1 SR i)
Name the type of mirror used in following situation
(a) Headlights of a car
(b) Rear view mirror of vehicles
(c) Solar furnaces
Support your answer with reason.
1 fearfaat ® wgea 4O 1 YehR Farsu-
(a) et R #1 3w-F9 (T-TL)
(b) Torell aTE =1 9¥E/UE 9T TUI
(c) ER
3 3T Skl HROT Gfgd gt Fifsg 25x25=5
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